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Primitivni funkce Defini¢ni obor Poznamka
n+1
/(x—ka)"dx:(x:j)l—kC R\ {—a},n<0 n#-1,n€z,
aecC
xa—f—l N
dr = R R\ {-1
/x 1= +C aeR\ {1}
1
/ de=In|z+a|l+C R\ {—a} aeR
r+a
/e‘”dx:aeax—&—C R aeC,a#0
/cosmdmzsinaf+6’ R
/sina:da?: —cosz +C R
1 T s
_ 2% — 1)=, (2k + 1)~
/cos%cdm tgz + C (k-1 Ck+1)3),
kel
1
/.2 dz = —cotgz + C (kw,(k+1)7r),
sin” x
kel
/ ! 4z = arctgz + C R
522 x = arctgx 1
= —arccotg x + Co
1
———=dz = arcsinx + C -1,1
/\/1—1’2 ! ( )
= —arccosz + Cy
/ LI inhz + C R
————dx = argsinh
V1+ 22 &
=ln(z+vVa2+1)+C
1
———dx = argcosh |z| - signx + C R\ [-1,1
| ey e = arscosh x| s \[-1,1]
=In(|z| + Va2 - 1) -signz + C
/coshxdx:sinhx—i—C R
/sinhxdx:coshx—i—C R




